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Write the full name of RCH.
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What is Ladybird?
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Which charge is present in DNA fragment?
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Where is barrier type of coral reefs obtained in our nation?
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whose thickness in he atmosphere is measured by Dobson Unit (DU)? D
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Explain the Euploidy.
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Write two significances of Vaccination.
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Write any two significances of genetic engineering in industrial field.
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Draw internal structure of ovary and labe] any three,
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Write any hremeasures to prevent AIDS,
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Describe briefy about risks due to the excessive use of alcoholic

drinks.
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What is Eugenics ? Write any two utilities of eugenics,
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Describe phosphorus cycle with diagram.
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What is Recombinant DNA Technology ? Describe its three steps.
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What is Gene Therapy ? Describe it giving example of lack of
adenosine deaminase (ADA).

Frder : (3) mmmﬁzemﬁéﬁﬂqm%lmm
&1 (IW FI Al T=-Hm 150 wg 3)
Instruction : (E) Question Nos. 24 to 26 are long answer type questions,
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Describe about the Filariasis Disease on the following dins.

(a) Causes

(b) Symptoms

(c) Treatment
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Describe about the Ascariasis Disease on the following points :
1be a _

(@) Causes

(b)  Symptoms

(¢) Treatment
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Draw a labelled sketch of male reproductive system and write one
main function of the following parts :

(a) Prostate gland

(b) Epididymis

(¢) Vasdeferens
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Describe Watson and Crick DNA model with disg™
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What is Lac Operon ? Describe with diagram about the structure of

regulator gene and structural gene.



